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H1l1 H16

H17 H21




1 2 3 3 9
1 2 3 3 9
1 1 1 1 5
1 1 1 1 5
1 1 1 1 5
8 8 8| 24

1 9 9 9| 29
70 70
70 70

100 100

100| 100

70| 70| 100 100| 340
1 1 1 1 5
1 1 1 1 5
1 1 1 1 4
1 1 1 1 4
122 / 150 / 12| 12| 12| 12| 48
122/ 150 / 3 3 3 3 12
1

15| 15| 15/ 15| 61
90| 99| 130 130| 453




5 5 5
3 3 3
4 4 4
34 34 5 29
5 4 2 3
10 10 6 4
61 60 22 39
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1141
164.1

1141
H11-

1741
2241

1741
((H17-

H11 H16)/H11*1 H17-H22 H22)/H17*1
H16 00 ( 00
11 16 17| 18| 19| 20| 21| 22

65| 64| 63 63| 61| 59 6 9.2%| 58| 57| 56| 55| 54 49 9| 1554
21| 21| 19| 17| 16| 16 5| 238u| 17| 17| 16| 15| 15 14 3| 17.6%

0 0
21| 21| 19| 17| 18| 16 5| 238w 17| 17| 16| 15| 15 14 3| 17.6%
21| 20| 20| 19| 20| 20 1 48% 18| 18| 18| 15| 15 14 4l 2229
4 4l 4] 4 0 oow| 4| 4| 4 3] 3 3 1| 25.0%
2 1 1| 50.0% 1l 1 1 0 0.0%
1 of 1| 1 0 oow| 1| 1| 1| 1] 1 1 0 0.0%
14| 13| 13| 14| 14| 14 0 00%| 12| 12| 12| 10| 10 9 3| 25.0%
107| 105 102| 99| 97| 95 12| 112w 93| 92| 90| 85| 84 77 16|  17.2%

1l 1 1 1 4

1l 3 e 2/ s 3 23




17( 18| 19| 20| 21| 22
95 093 15( 15| 15| 15| 15| 15 90
93 -92 7 7 7 7 71 35
92 -90 15( 15| 15| 15 60
90 -85 38| 38| 38] 114
85 -84 7 71 14
84 77 51} 51
15| 22| 37| 75| 82| 133| 364
95 -93 15( 15| 15| 15| 15| 15 90
93 -92 7 7 7 7 71 35
92 -90 15 15| 15| 15 60
90 -85 38| 38| 38] 114
85 -84 7 71 14
84 77 51} 51
15( 22| 37| 75| 82| 133] 364
-12 15( 15| 15| 15 60
15( 15| 15| 15| 60




H11 H16

1)

2 2 2 2 2
3 3 3 3 3
5 5 5 5 5
10{ 10f 10| 10| 10




60 15 15 15 15
1 1
276 15 22 52 90 97
276 15 22 52 90 97
10 2 2 2 2 2
15 3 3 3 3 3
25 5 5 5 5 5
50 10 10 10 10 10
9 1 2 3 3
5 1 1 1 1 1
29 1 1 9 9 9
340 70 70 100 100
5 1 1 1 1 1
4 1 1 1 1
779 29 122 161 230 237




